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(a—c)(b>— 6) (@~ 2b)(1 — 5a) |

J

i\

= (n’m + n’p) — (8m + 8p) h =X —x)+(14x°—7)
=n’(m +p) — 8(m + p) =x(2x - 1) +72x" — 1)
=(m+p)(n’ - 8) =X+ Dx+7)

(m +p)(n’—8) X+ D(x +7)
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1. aglady auiuld 21 wduaniuld 10 4 uaz 7
2. a¢lawy amduld 9 wduanduld 10 2 uae 8
3. aglsde aauiuld - 4 wdudnduld 3 -1 4 6
4. aglside aauduld -20 wdudnfuld 8 3 uay 7
5. aglsdy aauduld - 50 wiuaniuld - 5 5 uaz10
6. azlside amufuld 18 wduanduld -9 -3 Uag-6
7. aglsidy amuduld 27 wduanduld 12 -4 Uay-8
8. o¢lsdy amuiuld - 6 wduanduld 1 -2 uag 4
9. azlside amiuld - 56 wduanduld 1 -4 4y 9
10. aglagy amiuld - 64 uduanduld o T WRT
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x? — 16X + 60

91 X% - 16x + 60 = (x — 6)(x — 10)
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Wh1 X - 6x — 16 = (X + 2)(x — 8)
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| X+ 8x-9=x-1x+9)
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(10 AZWLUY )

'*v-
1. uunAIUsznouTes 2y” + 5y + 2

W 2% +5y +2 =2y + 1y + 2)

Ay (2y + 1y + 2)

2. AuNFIUTENIUTDY 6y” — 13y + 5
W 6y" - 13y + 5 = (2y - 1)(3y - 5)
Aoy (2y - 1)3y - 5)

3. yNAIUTENBUVBY 3x° — 20x — 7
WM 3 -20x-7 = Bx+ 1)x-7)
pau  (3x + 1)x - 7)

4. uenIlsznauYes 8y + 10y - 3
W 8y’ + 10y — 3 = (dy — 1)(2y + 3)
pau  (dy - 1)2y + 3)
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'*e-
5. abgnmUsENaures 4m? + 3m - 7

B/ 4m?+3m -7 = @m + 7)(m - 1)

@y (dm + 7)(m - 1)

6. LYNAIUTENBUVDY 24t° + 19t + 2
/M 2417 + 19t +2 = (Bt + 1Bt + 2)
fau (8t + 1)(3t + 2)

7. WYNAIUTENOUVDS 6X° — TX — 3
/1 66X —Tx -3 = (2x-3)3x + 1)
gy (2x — 3)(3x + 1)

8. ‘-NLLEJﬂ(;]J’J‘UixﬂEJU‘U@Q 12)(2 —Ix+1
WY 12¢ - Tx+ 1 = (@x - 1)3x - 1)
U (dx — 1)(3x - 1)

-

e S B
S~ — ’ —
9. UEAAIUTTNDUIBY 10 — 19x — 15%°

WY 10 - 19x — 15x° = (= 5x + 2)(3x + 5)

$9uU (- 5x + 2)(3x + 5)

SR |
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e o — P
10. QQLLEJﬂ{;]”JUigﬂEJU‘UEN -2 X2 + Ix + 15

W - 2%+ Tx+ 15 = (- 2x - 3)(x - 5)

#aU (- 2x — 3)(x — 5)
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